;: 3 3-58-96+44-2
=10
5. [18- 6|

\\1\@
.

*—fan 9in.?and h=32in.

12.

Use the Distributive Pro

a $105.00 b $98.00

For every real number x, y, and z, the statemem (x - y@r @wﬁeﬁﬁ;
@ always b sometimes C  neve

Name:

Period

3.

—-\:V\J«er‘ s

: kefﬁ Date:__

32(32—20) + 4

q (V2T

6.1.7m + 655 —4n+2.5m" - n

(] 14+28))mE Yy b.Sn—Hnn

2w 31.5n

cost $14.99 each.
- d $105.70

b 4 true.

V_Q(;ﬂ_w ‘

oS posihwe 1

7 (1I5-0.01) =
/04,93

i




solve the equation.

s 4
15, b=37
14, 3x+5‘3,—?_>z. -y - L4 .

D)J(:Z” < o

g i
= 9 X == 30 |
hEQ%-page book. He has read thre ne fourth of the ““mbir of pages he hasn’t
16. Nac |(13_x ) L_I(KJ)

yet read.
| . = 193 -X= ”
_,(mg )()-f?) x Ux -1

a. How many pages has he not yet read?
K3~y = [lg2 - i<h the book if he reads about 8 pages per day. -
b. Estimate how many dmtakeja s to finish the ¥ =4\ ?C'S?S‘
%2 Qcc
————8 =
3 cm
17. The perimeter of the rectangle is 24 cm. Find the value of x.
3xcm
3+3%3x43x =24
b+ Lx=24
Lx=19
Solve the proportion. o =
2 11
18. —= - 19. What is 10% of 118?

10 x
Z);,\\—Oj 113 - O.fO:M)

20.Write the slope-intercept form of the equation for the line. 21. What is the solution of the system of equations?

Ty
: VE -
: / MW —3 y=3x+7 . G\rcp\n
) =X -9 ° Ellminachn
, 7 9. (il =10) o SWo SR~
_5 4 3 2 .y 11 4§ «x b. (-17,-8)
c. (4, 19)
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